OWEBEERE 26 mm

MAF -

@Wﬁﬁ&i @Wﬂﬁﬁ* ®§§ﬁﬂ£

{£F% | 30 | 40 | 50 | 60 | 80 | 100 | 125
#7% | @930 | @40 | @50 | @60 | @80 | 100 (@125
SMER~TE

oA

M

\

‘ -

o

m y

T

oD
BLERIZSL R

A

Vacuum Pad

FERATWHMEREMERR, dMER
ENR, BB, SRNESREERS

QR+ R QR IHRLL
K HE | PR pmegeE gGe sRRgEe oo 2 | OF
1247 | G1/4 | G3/8
HAE | R | IR
BAL: mm
= %
HE | W D B A L T
32 20 18.5 25 7
42 22 18.5 3.5 7
52 28 25 45 10
62.5 31 25 55 10 s
82 34 25 75 10 g
103 36 25 8.5 10 i) S
128 43 25 12 10 S EER
GFT &
GTP &
GBLP
Fid]
me |2E B4
AR A B c | D |E|H e
MBX1 G1/8 |155/165(15 3
MBX1 G1/4 |155/165(15 3
s A M10X1.25| G1/8 | 16 |185| 2 | 4 MQB
M10X1.25| G1/4 | 16 |185| 2 | 4
a M10X1.25| G3/8 | 16 | 22 | 2 | 4 MAOF
w M14X15 | G1/8 | 16 |[185| 2 | 5 2
: M14X15 | G1/4 | 16 |185| 2 | 5
MAOB
A M14X15 | G3/8 | 16 | 22 |2 | 5 5
B G1/8 G1/8 | 18 |165| 2 | 4
) G1/8 G1/4 | 18 |165] 2 | 4
G1/4 G1/4 | 18 |185| 2 | 4
. M6X1 |M8X125| 20 | - | - |12
M8X1.25 |M8X1.25| 20 | - | - |12
V M10X1.25| G1/8 | 20 | - | - |12
R M10X1.25| G1/4 | 20 | - | - |17
G1/8 G18 20| - | - |12
G1/4 G4 | 20| - | - |17
G3/8 G3is | 20| - | - |19
M10X1.25| G1/8 | 18 | - | - |17
M10X1.25| G1/4 | 18 | - | - |17
G1/8 G4 |18 - | - |21
G1/4 G4 |18 - | - |21
G3/8 G4 | 21| - | - |21

GINIER

1-182



